
Direction:
In the following question, select the related word/letter/number from the given alternatives.

Question No. 1

DIMA : NSWK ∷ BJGT : ?

Options :

1. QTDL

2. LQTD

3. QDLT

4. LTQD

5.

Answer : LTQD

Direction:
In the following question, select the related word/letter/number from the given alternatives.

Question No. 2

GS: 13 :: LC : ?

Options :

1. 7

2. 2

3. 5

4. 4

5.

Answer : 5

Direction:
In the following question, select the related word/letter/number from the given alternatives.
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Question No. 3

B : 16 ∷ F : ?

Options :

1. 1296

2. 1216

3. 1366

4. 1256

5.

Answer : 1296

Question No. 4

N, L, Q, Y, S and V are six members in a family. Q is not mother of L but L is son of Q. N and Q are a married couple. S

is the brother of Q. V is brother of L. Y is daughter of N.  How V is related to S?

Options :

1. Uncle

2. Aunt

3. Nephew

4. Niece

5.

Answer : Nephew

Question No. 5

A person starts from a point P and travels 3 km eastwards to Q and then turns left and travels thrice that distance

to reach R. He again turns left and travels 15 Km and reaches his destination S. The shortest distance between the

starting point and the destination is  

Options :
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1. 10 km

2. 15 km

3. 18 km

4. 13 km

5.

Answer : 15 km

Question No. 6

In a certain code language, "Case hitting new" is written as "bgfd ponc xz", "Case panel several" is written as "zrms xz

kit" and "Several parts new" is written as "mx zrms bgfd". What is the code for ''panel" in the specified code

language?

Options :

1. zrms

2. xz

3. bgfd

4. kit

5.

Answer : kit

Question No. 7

In a certain code ‘CONFIRM’ is written as ‘APLGGSK’, how would ‘PERFECT’ be written in that code?

Options :

1. NFPGCDR

2. NCDRFPG

3. GCNFPDR

4. NDRFPGC

5.

Answer : NFPGCDR
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Direction:
In each of the following questions, a letter-number series is given with one or more terms missing as shown by (?).
Choose the missing term out of the given alternatives.

Question No. 8

J – 25, K – 36, ?, M – 64,  N – 81

Options :

1. L – 26

2. L – 30

3. L – 45

4. L – 49

5.

Answer : L – 49

Direction:
In each of the following questions, a letter-number series is given with one or more terms missing as shown by (?).
Choose the missing term out of the given alternatives.

Question No. 9

MTDJ, NUEK, OVFL, PWGM, ?

Options :

1. NSXT

2. MSCR

3. RYIO

4. QXHN

5.

Answer : QXHN

Direction:
In each of the following questions, a letter-number series is given with one or more terms missing as shown by (?).
Choose the missing term out of the given alternatives.
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Question No. 10

24, 10, 22, 12, 20, 14, ?

Options :

1. 12

2. 10

3. 16

4. 18

5.

Answer : 18

Question No. 11

If Q means ‘add to’, J means ‘multiply by’, T means ‘subtract from’ and K means ‘divide by’, then 42 K 7 Q 5 J 7 T 8 = ?

 

Options :

1. 36

2. 28

3. 30

4. 33

5.

Answer : 33

Question No. 12

Which of the following diagrams best depicts the relationship between Year, Month and Days?
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Options :

1. 1

2. 2

3. 3

4. 4

5.

Answer : 1

Direction:
In each question below are given three statements followed by three conclusions numbered I, II and III. You have to
take the two given statements to be true even if they seem to be at variance with commonly known facts and then
decide which of the given conclusions logically follows from the three given statements, disregarding commonly
known facts.

Question No. 13

Statements:                       All vegetables are fruits.

                                                All brinjals are fruits.

                                                All fruits are carrots.

Conclusions:                       I. All vegetables are carrots.

                                                II. All brinjals are carrots.
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                                                III. Some carrots are vegetables.

Options :

1. None follows

2. Only I and II follow

3. Only II and III follow

4. All follows

5.

Answer : All follows

Direction:
In each question below are given three statements followed by three conclusions numbered I, II and III. You have to
take the two given statements to be true even if they seem to be at variance with commonly known facts and then
decide which of the given conclusions logically follows from the three given statements, disregarding commonly
known facts.

Question No. 14

Statements:                       Some tables are desks.

                                                Some desks are chairs.

                                                Some chairs are woods.

Conclusions:                       I. Some woods are desks.

                                                II. Some chairs are tables.

                                                III. No desk is a wood.

Options :

1. Only I follows

2. Only either I or II follows

3. Only either II or III follows

4. Only either I or III follows

5.

Answer : Only either I or III follows
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Question No. 15

In the following question, select the odd word from the given alternatives.

Options :

1. 14 – 25

2. 20 – 24

3. 27 – 33

4. 11 – 8

5.

Answer : 11 – 8

Question No. 16

In the following question, select the odd word from the given alternatives.

Options :

1. Cheese

2. Butter

3. Curd

4. Pineapple

5.

Answer : Pineapple

Question No. 17

Find the missing number.
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Options :

1. 35

2. 30

3. 32

4. 36

5.

Answer : 30

Question No. 18

Find the missing number.
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Options :

1. 334

2. 354

3. 370

4. 324

5.

Answer : 324

Question No. 19

A group of alphabets are given with each being assigned a number. These have to be unscrambled into a

meaningful word and correct the order of letters may be indicated from the given responses.

U             O             R             S              T              E              P            

1               2             3              4              5               6             7              

Options :

1. 6234571

2. 7245136

3. 3247516
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4. 3246571

5.

Answer : 7245136

Question No. 20

A word is represented by only one set of numbers as given in any one of the alternatives. The sets of numbers given
in the alternatives are represented by two classes of alphabets as in two matrices given below. The columns and
rows of Matrix I are numbered – form 0 to 4 and that Matrix II are numbered from 5 to 9. A letter from these
matrices can be represented first by its row and next by its column, e.g., ‘V’ can be represented by 02,10, etc., and
‘K’ can be represented by 56,96 etc. Similarly you have to identify the set for the word ‘VOTE’.

Options :

1. 02, 44, 03, 24

2. 34, 33, 24, 65

3. 43, 11, 89, 59

4. 10, 00, 98, 66

5.

Answer : 34, 33, 24, 65

Question No. 21

Identify the figure that completes the pattern.
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Options :

1. 1

2. 2

3. 3

4. 4

5.

Answer : 2

Question No. 22
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Options :

1. a

2. b

3. c

4. d

5.

Answer : a

Question No. 23

Count the number of triangles and squares in the given figure.
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Options :

1. 28 triangles, 3 squares

2. 24 triangles, 5 squares

3. 28 triangles, 5 squares

4. 24 triangles, 3 squares

5.

Answer : 28 triangles, 5 squares

Question No. 24

Choose a figure which would most closely resemble the unfolded form of Figure (Z).

Options :

1. 1

2. 2

3. 3

4. 4

5.
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Answer : 4

Question No. 25

Find out from amongst the four alternatives as to how the pattern would appear when the transparent sheet is

folded at the dotted line.

Options :

1. 1

2. 2

3. 3

4. 4

5.

Answer : 3

Question No. 26

Which vitamin deficiency causes ‘Sterility’?

Options :

1. Vitamin B

2. Vitamin D

3. Vitamin C

4. Vitamin E

5.

Answer : Vitamin E
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Question No. 27

Which operation was started during August Movement?

Options :

1. Operation Zero Hour

2. Operation Searchlight

3. Operation Vijay

4. None of these

5.

Answer : Operation Zero Hour

Question No. 28

Which among the following is the capital of Canada?

Options :

1. Ottawa

2. Winnipeg

3. Toronto

4. Vancouver

5.

Answer : Ottawa

Question No. 29

Which of the following device is used to measure Altitude?

Options :

1. Barometer

2. Pedometer

3. Altimeter
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4. Hygrometer

5.

Answer : Altimeter

Question No. 30

‘ICC Spirit of Cricket’ was awarded to which of the following player?

Options :

1. Virat Kohli

2. MS Dhoni

3. KL Rahul

4. RC Ashwin

5.

Answer : MS Dhoni

Question No. 31

_______ is the author of the book Untold Story?

Options :

1. APJ Abdul Kalam Azad

2. Chetan Bhagat

3. Arundhati Roy

4. Khushwant Singh

5.

Answer : APJ Abdul Kalam Azad

Question No. 32

In which of the following article an ordinance power is given?
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Options :

1. Article 123

2. Article 144

3. Article 124

4. Article 129

5.

Answer : Article 123

Question No. 33

A famous ‘Snake Boat Race’ takes place in which state?

Options :

1. Maharashtra

2. Karnataka

3. Kerala

4. Tamil Nadu

5.

Answer : Kerala

Question No. 34

What is Full Form of VDU?

Options :

1. Video Display Unit

2. Visual Display Unit

3. Video Direct Unit

4. Visual Direct Unit

5.

Answer : Visual Display Unit
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Question No. 35

Which among the following separates Andaman and Nicobar islands?

Options :

1. 10 Degree channel

2. 9 Degree channel

3. 8 Degree channel

4. None of these

5.

Answer : 10 Degree channel

Question No. 36

The famous ‘Kumbh Mela 2021’ held in which of the following?

Options :

1. Indore

2. Haridwar

3. Dehradun

4. Rishikesh

5.

Answer : Haridwar

Question No. 37

Who was the first country to issue banknotes?

Options :

1. USA

2. India

3. China
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4. Japan

5.

Answer : China

Question No. 38

Who won the ‘Dadasaheb Phalke Award 2019’?

Options :

1. Amitabh Bachchan

2. Vinod Khanna

3. Rajnikanth

4. Kamal Haasan

5.

Answer : Rajnikanth

Question No. 39

What is the full form of ‘CACP’?

Options :

1. Commission for Agricultural Costs & Prices

2. Cooperation for Communal Production

3. Commission for Amendment Costs & Prices

4. None of these

5.

Answer : Commission for Agricultural Costs &amp; Prices

Question No. 40

Neutron was discovered by______?
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Options :

1. Robert Hooke

2. James Chadwick

3. James Witson

4. Antoni Van Leeuwenhoek

5.

Answer : James Chadwick

Question No. 41

 ‘Niyabat –e- Khudai” a title was given to whom_____?

Options :

1. Ghiyasuddin Tuglaq

2. Itlumish

3. Alauddin Khalji

4. Balban

5.

Answer : Balban

Question No. 42

Statue of Liberty is along which river?

Options :

1. Amazon river

2. Nile river

3. Hudson River

4. Colorado River

5.

Answer : Hudson River
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Question No. 43

Who is the Current Governor of Punjab?

Options :

1. Anil Baijal

2. V. P. Singh Badnore

3. Satyadev Narayan Arya

4. Acharya Devvrat

5.

Answer : V. P. Singh Badnore

Question No. 44

'Tehri Dam'  is located in which of the state?

Options :

1. Uttar Pradesh

2. Uttarakhand

3. Maharashtra

4. Haryana

5.

Answer : Uttarakhand

Question No. 45

The headquarters of ‘Khelo India Youth Games’ is in?

Options :

1. Mumbai

2. Chandigarh

3. Ahmedabad
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4. Delhi

5.

Answer : Delhi

Question No. 46

Who is the New Chief Minister of Uttarakhand?

Options :

1. Pushkar Singh Dhami

2. Dhan Singh Rawat

3. Tirath Singh Rawat

4. None of these

5.

Answer : Pushkar Singh Dhami

Question No. 47

Which minister launched an app for migrant labor for a pan-India survey?

Options :

1. Santosh Gangwar

2. Piyush Goyal

3. Shri Rattan Lal Kataria

4. Rajnath Singh

5.

Answer : Santosh Gangwar

Question No. 48

World TB Day is observed on?
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Options :

1. 22nd March

2. 24th March

3. 12th February

4. 21st March

5.

Answer : 24th March

Question No. 49

What is the specific name of potato?

Options :

1. Solanum tuberosum

2. Allium Cepa

3. Allium Sativum

4. Zingiber Officinale

5.

Answer : Solanum tuberosum

Question No. 50

What was the rank of India in ‘Global Hunger Index 2020’?

Options :

1. 90th

2. 91st

3. 94th

4. 100th

5.

Answer : 94th
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Question No. 51

In an exam of 100 marks, the average marks of a class of 36 students are 66. If the top 3 scorers of the class leave,

the average score falls “down by 2. If the other two toppers except "the highest topper scored not more than 85",

then what is the maximum score the topper can score?

Options :

1. 93

2. 96

3. 97

4. 94

5.

Answer : 94

Question No. 52

A, B and C started a business by investing in the ratio 1/3 : 1/2 : 2/8. After 4 months C withdrew 1/2 of his

investment. If after 1 year from start of business A and B got a share of Rs 15,000 out of the total profit, then find

the share of C?

Options :

1. Rs.9000

2. Rs.6000

3. Rs.7000

4. Rs.8000

5.

Answer : Rs.6000

Question No. 53

If y = 5x + c passes through point A(5, 2), what is the value of c?

Options :
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1. -27

2. -25

3. -23

4. -21

5.

Answer : -23

Question No. 54

A boat takes one-fourth time in moving a certain distance downstream than upstream. The ratio of the speed of

the boat in still water and that of the current is

Options :

1. 7:4

2. 5:3

3. 4:1

4. 3:2

5.

Answer : 5:3

Question No. 55

A 395 meter long train moving with an average speed of  117 Km/hr crosses a platform in 38 seconds. A man    

crosses the same platform in 3.5 minutes. What is the speed of a man in m/secs?

Options :

1. 8 m/sec

2. 5 m/sec

3. 4 m/sec

4. 6 m/sec

5.

Answer : 4 m/sec

SSC CHSL 2021 TIER 1 Previous Year Paper



Question No. 56

If sin 33° = `5/13` , then tan 57° = ?

Options :

1. 12/5

2. 1

3. 2/5

4. -2

5.

Answer : 12/5

Question No. 57

If cost price of 20 pens is equal to selling price of 18 pens. Find the profit%

Options :

1. 9.11%

2. 10%

3. 11.11%

4. 20%

5.

Answer : 11.11%

Question No. 58

A contractor undertakes to dig a canal 14 km long in 280 days and employs 40 women. After 180 days he finds 
that only 8 km of the canal has been completed. Find the number of extra women he must employ to finish the 
work on time?

Options :

1. 16
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2. 18

3. 15

4. 14

5.

Answer : 14

Question No. 59

The number 4997*4 is completely divisible by 22 then what will be the value of *?

Options :

1. 1

2. 7

3. 6

4. 9

5.

Answer : 7

Question No. 60

The diagonal of a cube is 54√3 cm. Find the ratio of its total surface area and volume?

Options :

1. 2:7

2. 1:7

3. 1:9

4. 2:3

5.

Answer : 1:9

Question No. 61

If x + y = 11 & xy = 22 then x2 + y2 = ?
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Options :

1. 66

2. 77

3. 33

4. 88

5.

Answer : 77

Question No. 62

In what time will Rs. 80000 amount to Rs. 92610 @ 10% compound interest payable half-yearly.

Options :

1. 2% years

2. 3% years

3. 3/2% years

4. 4% years

5.

Answer : 3/2% years

Question No. 63

The ratio of ages of A and B is 3:5. After 15 years the ratio of B and C’s age is 4:9. If C’s 20th

birthday was celebrated 10 years ago, then what is the present age of A?

Options :

1. 6 years

2. 5 years

3. 16 years

4. 3 years

5.
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Answer : 3 years

Question No. 64

If G is the centroid and AD, BE, CF are three medians of ∆ABC with area 216 cm² , then the area of ∆EFG is?

Options :

1. 6 cm²

2. 18 cm²

3. 3 cm²

4. 4 cm²

5.

Answer : 18 cm²

Question No. 65

If the price of rice has increased from Rs 40 per kg to Rs. 60 per kg, by how much percent a person has to decrease

his consumption so that his expenditure remains same.     

Options :

1. 66.67%

2. 40%

3. 33.33%

4. 50%

5. 44%

Answer : 33.33%

Direction:
Table shows the hand sanitizers sold on different days by different sellers.

Read the table carefully and answer the questions.
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Question No. 66

Find the difference of hand sanitizers sold by P and R together on Monday to the hand sanitizers sold by S and T on

Wednesday?

Options :

1. 10

2. 20

3. 5

4. 15

5.

Answer : 10

Direction:
Table shows the hand sanitizers sold on different days by different sellers.

Read the table carefully and answer the questions.
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Question No. 67

Find the ratio of hand sanitizers sold by Q on Tuesday and Saturday together to the hand sanitizers sold by R on

Thursday and Sunday together? 

Options :

1. 9:11

2. 10:13

3. 11:14

4. 7:9

5.

Answer : 10:13

Direction:
Table shows the hand sanitizers sold on different days by different sellers.

Read the table carefully and answer the questions.
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Question No. 68

Hand sanitizers sold by P and S together on Wednesday is what percent of hand sanitizers sold by Q on Sunday?

Options :

1. 350%

2. 425%

3. 275%

4. 550%

5.

Answer : 550%

Direction:
Study the following bar and answer the questions given below.

Production of Fertilizers by a company (in thousand tonnes) over the Year  
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Question No. 69

What was the percentage decline in the production of fertilizers from 2016 to 2017? 

Options :

1. 19%

2. 13%

3. 23%

4. 27%

5.

Answer : 27%

Direction:
Study the following bar and answer the questions given below.

Production of Fertilizers by a company (in thousand tonnes) over the Year  
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Question No. 70

The average production of 2015 and 2016 was exactly equal to the average production of which of the following

pairs of years? 

Options :

1. 2014 and 2020

2. 2013 and 2020

3. 2017 and 2019

4. 2019 and 2020

5.

Answer : 2013 and 2020

Question No. 71

If `y +(1)/(y)` = 5 then `y^6+(1)/(y^6)` = ?

Options :

1. 12602

2. 12712

3. 12098
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4. 12701

5.

Answer : 12098

Question No. 72

A box contains the coins of 5p, 10p and 25p are in the ratio 3:4:6. If there is Rs. 82 in all, how many 10p coins are

there? 

Options :

1. 60

2. 120

3. 160

4. 100

5. None of these

Answer : 160

Question No. 73

A can do a piece of work in 35 days. B is 40% more efficient than A. Then in how many days the work gets

completed when both are working simultaneously?

Options :

1. 14(7/12) days

2. 13(1/3) days

3. 16(22/23) days

4. 11(2/3) days

5.

Answer : 14(7/12) days

Direction:
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If distance between two pillars of length 45 & 20 cm is x cm. If two angle of elevation of their respective top from a

point on ground of other are complementary to each other, then value of x is

Question No. 74

Options :

1. 12 cm

2. 9 cm

3. 24 cm

4. 30 cm

5.

Answer : 30 cm

Question No. 75

The height of a cylinder and that of a cone are in the ratio 2:3 and the radii of their bases in the ratio 6:7. The ratio of

their volumes will be?

Options :

1. 21:25

2. 49:72

3. 72:49

4. 13:27

5.

Answer : 72:49

Direction:

Select the most appropriate word to fill in the blank.

Question No. 76
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In the current global atmosphere of “success at any cost”, cheating is indelibly _______________to achieving

goals through an easy and quick route.

Options :

1. linked

2. alignment

3. cooperative

4. None of these

5.

Answer : linked

Direction:

Select the most appropriate word to fill in the blank.

Question No. 77

The need to preserve the authenticity and greatness of Indian music lies at all______________from gurus to

shishyas to listeners to technocrats.

Options :

1. stratum

2. levels

3. altitude

4. None of these

5.

Answer : levels

Direction:

Select the most appropriate meaning of the given idiom.

Question No. 78

Up a blind alley 
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Options :

1. To be headed towards doom

2. To be a great victory

3. To hide something

4. To leave quickly or being forced to leave quickly

5.

Answer : To be headed towards doom

Question No. 79

Which of the following words is incorrectly spelt?

Options :

1. Millionaire

2. Indefinately

3. Opportunities

4. Commercial

5.

Answer : Indefinately

Question No. 80

Which of the following words is correctly spelt?

Options :

1. Congeneital

2. Eliminate

3. Detterent

4. Suiecidal

5.

Answer : Eliminate
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Direction:

In the sentence identify the segment which contains the grammatical error.

Question No. 81

The political class has failed to push forward the “India story”, which look so promising during the last decade.

Options :

1. The political class has failed

2. to push forward the

3. “India story”, which look so

4. promising during the last decade.

5.

Answer : “India story”, which look so

Direction:

In the sentence identify the segment which contains the grammatical error.

Question No. 82

Elected governments repeatedly fail the trust test like politicians ignore the fact that without the free, empowered

citizen, there can be no real democracy.

Options :

1. Elected governments repeatedly fail the

2. trust test like politicians ignore the fact

3. that without the free, empowered

4. citizen, there can be no real democracy.

5.

Answer : trust test like politicians ignore the fact

Direction:

Select the word which is antonym of the given word.
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Question No. 83

Plethora

Options :

1. Brash

2. Heedless

3. Paucity

4. Vigilant

5.

Answer : Paucity

Direction:

Select the word which is antonym of the given word.

Question No. 84

Snide

Options :

1. Ethical

2. Coddle

3. Imprimis

4. Infernal

5.

Answer : Ethical

Direction:

Select the word which means the same as the group of words given.

Question No. 85

One who is filled with excessive enthusiasm in religious matters
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Options :

1. Heretic

2. Fanatic

3. Insolvent

4. Fatalist

5.

Answer : Fanatic

Direction:

Select the word which means the same as the group of words given.

Question No. 86

Someone who walks in sleep

Options :

1. Somnambulist

2. Gourmand

3. Recluse

4. Demonomania

5.

Answer : Somnambulist

Direction:

Select the most appropriate word to fill in the blank. 

Question No. 87

Medicine is _____________________ as the most noble profession and doctors are respected as those next to

God.

Options :

SSC CHSL 2021 TIER 1 Previous Year Paper



1. indulged

2. regards

3. considered

4. held

5.

Answer : considered

Direction:

Select the word which is antonym of the given word.

Question No. 88

Eviction

Options :

1. Admittance

2. Expulsion

3. Ejection

4. Dispossession

5.

Answer : Admittance

Direction:

Select the word which is synonym of the given word.

Question No. 89

Custodians

Options :

1. Prisoners

2. Curator

3. Artisans

SSC CHSL 2021 TIER 1 Previous Year Paper



4. Fabricators

5.

Answer : Curator

Direction:

Select the correct indirect form of the given sentence.

Question No. 90

He said to his friend, ”Work hard.”

Options :

1. He told his friend, “Work hard.”

2. He asked his friend to work hard.

3. He said to his friend to work hard.

4. He advised his friend to work hard.

5.

Answer : He advised his friend to work hard.

Direction:
Directions (91-95): In the following passage, some of the words have been left out, each of which is indicated by a
number. Find the suitable word from the options given against each number and fill up the blanks with appropriate
words to make the paragraph meaningfully complete.

 As a man was passing the elephants, he suddenly stopped, confused by the fact that these huge creatures were

being _________91_________by only a small rope tied to their front leg. No chains, no cages. It was obvious that

the elephants could, at anytime,__________92___________away from their bonds but for some reason, they did

not. He saw a trainer nearby and asked why these animals just __________93__________there and made no

attempt to get away. “Well,” trainer said, “when they are very young and much smaller we use the same size rope

to tie them and, at that age, it’s enough to hold them. As they grow up, they are __________94_____________to

believe they cannot break away. They believe the rope can still hold them, so they never try to break free.”The man

was amazed. These animals could at any time break free from their bonds but because they

________95_________they couldn’t, they were stuck right where they were.
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Question No. 91

Choose the most appropriate option to fill the blank.

Options :

1. capture

2. held

3. blinded

4. none of these

5.

Answer : held

Direction:
Directions (91-95): In the following passage, some of the words have been left out, each of which is indicated by a
number. Find the suitable word from the options given against each number and fill up the blanks with appropriate
words to make the paragraph meaningfully complete.

As a man was passing the elephants, he suddenly stopped, confused by the fact that these huge creatures were

being _________91_________by only a small rope tied to their front leg. No chains, no cages. It was obvious that

the elephants could, at anytime,__________92___________away from their bonds but for some reason, they did

not. He saw a trainer nearby and asked why these animals just __________93__________there and made no

attempt to get away. “Well,” trainer said, “when they are very young and much smaller we use the same size rope

to tie them and, at that age, it’s enough to hold them. As they grow up, they are __________94_____________to

believe they cannot break away. They believe the rope can still hold them, so they never try to break free.”The man

was amazed. These animals could at any time break free from their bonds but because they

________95_________they couldn’t, they were stuck right where they were.

Question No. 92

Choose the most appropriate option to fill the blank.

Options :

1. broken

2. break
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3. broke

4. breaks

5.

Answer : break

Direction:
Directions (91-95): In the following passage, some of the words have been left out, each of which is indicated by a
number. Find the suitable word from the options given against each number and fill up the blanks with appropriate
words to make the paragraph meaningfully complete.

As a man was passing the elephants, he suddenly stopped, confused by the fact that these huge creatures were

being _________91_________by only a small rope tied to their front leg. No chains, no cages. It was obvious that

the elephants could, at anytime,__________92___________away from their bonds but for some reason, they did

not. He saw a trainer nearby and asked why these animals just __________93__________there and made no

attempt to get away. “Well,” trainer said, “when they are very young and much smaller we use the same size rope

to tie them and, at that age, it’s enough to hold them. As they grow up, they are __________94_____________to

believe they cannot break away. They believe the rope can still hold them, so they never try to break free.”The man

was amazed. These animals could at any time break free from their bonds but because they

________95_________they couldn’t, they were stuck right where they were.

Question No. 93

Choose the most appropriate option to fill the blank.

Options :

1. shuffled

2. captivated

3. staggered

4. stood

5.

Answer : stood

Direction:
Directions (91-95): In the following passage, some of the words have been left out, each of which is indicated by a
number. Find the suitable word from the options given against each number and fill up the blanks with appropriate
words to make the paragraph meaningfully complete.
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As a man was passing the elephants, he suddenly stopped, confused by the fact that these huge creatures were

being _________91_________by only a small rope tied to their front leg. No chains, no cages. It was obvious that

the elephants could, at anytime, __________92___________away from their bonds but for some reason, they did

not. He saw a trainer nearby and asked why these animals just __________93__________there and made no

attempt to get away. “Well,” trainer said, “when they are very young and much smaller we use the same size rope

to tie them and, at that age, it’s enough to hold them. As they grow up, they are __________94_____________to

believe they cannot break away. They believe the rope can still hold them, so they never try to break free.”The man

was amazed. These animals could at any time break free from their bonds but because they

________95_________they couldn’t, they were stuck right where they were.

Question No. 94

Choose the most appropriate option to fill the blank.

Options :

1. trained

2. conditioned

3. forced

4. bind

5.

Answer : conditioned

Direction:
Directions (91-95): In the following passage, some of the words have been left out, each of which is indicated by a
number. Find the suitable word from the options given against each number and fill up the blanks with appropriate
words to make the paragraph meaningfully complete.

As a man was passing the elephants, he suddenly stopped, confused by the fact that these huge creatures were

being _________91_________by only a small rope tied to their front leg. No chains, no cages. It was obvious that

the elephants could, at anytime, __________92___________away from their bonds but for some reason, they did

not. He saw a trainer nearby and asked why these animals just __________93__________there and made no

attempt to get away. “Well,” trainer said, “when they are very young and much smaller we use the same size rope

to tie them and, at that age, it’s enough to hold them. As they grow up, they are __________94_____________to

believe they cannot break away. They believe the rope can still hold them, so they never try to break free.”The man
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was amazed. These animals could at any time break free from their bonds but because they

________95_________they couldn’t, they were stuck right where they were.

Question No. 95

Choose the most appropriate option to fill the blank.

Options :

1. memorized

2. concluded

3. believed

4. summarized

5.

Answer : believed

Direction:
In the following question, a sentence has been given in Active/Passive Voice. Out of the four alternatives suggested,
select the one which best expresses the same sentence in Passive/Active Voice.

Question No. 96

She was to visit her grandparents.

Options :

1. Her grandparents were to be visited by her.

2. Her grandparents are to be visited by her.

3. Her grandparents were to be visit by her.

4. Her grandparents were to be visiting by her.

5.

Answer : Her grandparents were to be visited by her.

Direction:
In the following question, a sentence has been given in Active/Passive Voice. Out of the four alternatives suggested,
select the one which best expresses the same sentence in Passive/Active Voice.
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Question No. 97

The food should not be wasted.

Options :

1. Not waste of food

2. No waste the food.

3. Don’t waste the food.

4. Food waste not allowed.

5.

Answer : Don’t waste the food.

Direction:
In each question below, a sentence is given with a part of it printed in bold type. That part may contain a
grammatical error. Each sentence is followed by phrases given in options. Find out which phrase should replace the
phrase given in bold to correct the error, if there is any, and to make the sentence grammatically meaningful and
correct. If the sentence is correct as it is and ‘No correction is required’ , mark ‘No correction required’ as the

answer .

Question No. 98

They went for to the rear of the building, where they saw a horse, attached to a light wagon.

Options :

1. go for to the rear

2. gone around to the rear

3. went around to the rear

4. No correction required

5.

Answer : went around to the rear

Question No. 99

In each question below, a sentence is given with a part of it printed in bold type. Find out which phrase should
replace the phrase given in bold to correct the error, if there is any, and to make the sentence grammatically
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meaningful and correct. If the sentence is correct as it is and ‘No correction is required’ , mark ‘No correction

required’ as the answer .

The playground was sadly dirty, and though the corners were scraps of paper and broken toys.

Options :

1. in the cornering were

2. in the corners were

3. though the cornering were

4. No correction required

5.

Answer : in the corners were

Question No. 100

In each question below, a sentence is given with a part of it printed in bold type. Find out which phrase should
replace the phrase given in bold to correct the error, if there is any, and to make the sentence grammatically
meaningful and correct. If the sentence is correct as it is and ‘No correction is required’ , mark ‘No correction

required’ as the answer .

The consulate general and with the yoga school trainers organized the event at a park in the township.

Options :

1. besides with the

2. along with the

3. along the

4. No correction required

5.

Answer : along with the
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